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Chapter 1PRIVATE 


What Is an Operating System?
True/False Questions
1. An application program is a set of system software routines that sits between the operating system and the hardware. 

2. A black box is a point of connection or linkage between two components.

3. The user communicates with the application program, the application program communicates with the operating system, and the operating system communicates with the hardware.

4. Most application programs access the hardware directly.

5. A service is a hardware link activated by the operating system.

6. Because different brands of computers often imply different hardware, application software written for one brand on computer cannot run on another.

7. The advantage of using layers of abstraction is that you can focus on the details of any given layer without losing sight of the other layers.

8. The idea behind viewing a system as a set of layers of abstraction is derived from an old architectural concept called layering.

9. The contents of a black box are unknown to the other black boxes, so each layer is functionally independent.

10. Two black boxes communicate with each other only through a shared interface or point of linkage.
11. Viewing each layer of abstraction as an independent black box is useful because it allows you to work with the layers one at a time.

12. The operating system’s user interface, sometimes called the shell, provides a mechanism for the user and application programs to communicate directly with the hardware.
13. The operating system’s file management function, sometimes called the file system, incorporates routines that allow the user or programmer to create, delete, modify, and manipulate files logically, by name.

14. The operating system’s device management function is responsible for efficiently managing the system’s memory and processor.

15. Processor (or process) management is concerned with efficiently managing the processor’s time and main memory space.

16. Memory management is concerned with managing the system’s memory resources as the computer runs, allocating space to applications as needed and ensuring that those applications do not interfere with each other.

17. Inter-computer communication is enabled by processor management services installed on both machines

18. Because each layer is functionally independent, layers cannot be combined to form a system.

19. All operating systems are open source; in other words, they are based on open, published source code that can be modified and improved by anyone.

20. UNIX is an example of a proprietary operating system.

Answers: 1. F; 2. F; 3. T; 4. F; 5. F; 6. F; 7. T; 8. T; 9. T; 10. T; 

11. T; 12. F; 13. T; 14. F; 15. F; 16. T; 17. F; 18. F; 19. F; 20.F.
Multiple Choice Questions
Note: Most of the multiple choice questions can be converted to fill-in questions by simply deleting the suggested answers.

1. A(n) __________ is a set of system software routines that sits between the application program and the hardware. It defines a set of standard interface rules, provides numerous services, and serves as a platform for running and developing application programs.

a. layer
b. black box
c. operating system
d. interface
2. A(n) __________ is a point of connection or linkage between two components.

a. interface
b. black box
c. layer
d. operating system
3. Which of the following is not an example of a common interface? 

a. The user communicates with the application program.
b. The user communicates directly with the hardware.
c. The application program communicates with the operating system.
d. The operating system communicates with the hardware.
4. All application programs access the hardware through the __________ following rules imposed by the __________.

a. interface/operating system
b. operating system/operating system
c. operating system/interface
d. interface/interface
5. A(n) __________ is a software routine that runs in support of another program.

a. service
b. operating system
c. interface
d. application program
6. Because different brands of computers often imply different hardware, the operating system routines that communicate directly with the hardware might be quite different, but the routines that interface with the application program present a consistent __________ to the programs running on both machines.

a. platform
b. proprietary base
c. open base
d. The premise of this question is false.
7. The advantage of using __________ is that you can focus on the details of any given component without losing sight of the other component.

a. black boxes
b. services
c. a platform
d. layers of abstraction
8. The idea behind viewing a system as a set of layers of abstraction is derived from an old architectural concept called __________.

a. drafting
b. perspective
c. layering
d. overlay structures
9. The contents of a black box are unknown to the other boxes, so each black box is __________.

a. a mystery
b. physically independent
c. functionally independent
d. The premise of this question is false.
10. Two black boxes communicate with each other only through a shared __________ or point of linkage

a. edge
b. layer
c. interface
d. The premise of this question is false.
11. Viewing each layer of abstraction as an independent black box is useful because it allows you to work with the layers __________.

a. one at a time
b. in sets of two or more
c. interactively
d. The premise of this question is false.
12. The __________ provides a mechanism for the user and application programs to communicate with the operating system and request operating system support.

a. application interface
b. user interface
c. file system
d. program interface
13. The __________ incorporates routines that allow the user or programmer to create, delete, modify, and manipulate files logically, by name.

a. BIOS
b. file system
c. PICOS
d. user interface
14. The __________ function is responsible for controlling communications with the system’s physical peripheral devices, such as the keyboard, the display screen, the printer, and secondary storage.

a. user interface
b. file management
c. device management
d. none of the above
15. Processor (or process) management is concerned with efficiently managing __________.

a. memory space
b. peripheral devices
c. the processor’s time
d. all of the above
16. Memory management is concerned with __________.

a. managing the system’s memory resources as the computer runs
b. allocating space to applications as needed
c. ensuring that applications do not interfere with each other
d. all of the above
17. Inter-computer communication is enabled by __________ software installed on both machines.
a. device management
b. communication services
c. processor management
d. Inter-computer communication is enabled by hardware, not software.
18. Because each layer is functionally independent, stacking layers is like stacking building blocks. You can take advantage of this relationship to construct a complex __________.
a. routine
b. system
c. module
d. The premise of the question is false.
19. Some operating systems are __________; in other words, they are based on published code that can be modified and improved by anyone.

a. proprietary
b. standardized
c. transparent
d. open source
20. __________ is an example of a proprietary operating system.

a. UNIX
b. Macintosh OS X
c. Linux
d. All of the above are proprietary operating systems
Answers: 1. C; 2. A; 3. B; 4. B; 5. A; 6. A; 7. D; 8. C; 9. C; 10. C; 

11. A; 12. B; 13. B; 14. C; 15. C; 16. D; 17. B; 18. B; 19. D; 20.B.



